TRIND W "7 '0IN 2,4 77 YA 'on 702

- TIIR 7Y RUN 12 PRI 74T 12 v
There is a date in the v, but there is only one witness

OVERVIEW

The 71wn of 172109 107 '3 teaches us about two similar cases; 1°X) 17° 2052 20>
0>7v 1%y and R"Y XX 12 PRI 17 12 w0 (according to the 7"» who interprets this
latter case in a situation where it was written 7¥27 7° 2n32). mdoIN will
explain why it is necessary for the 71wn to teach us both of these cases.

MooIN anticipates a question:
= 9393 19 17 AN IINT INIY

According to the one who interprets this case of X"Y XX 12 XY 17 12 ©°,
saying that the mwn is discussing a situation where it was written in the

o e 1 . o . . . .
husband’s handwriting , and in addition a witness signed the v, there will be a
question; since in the case of X"¥117> an3 it is a 2109 v3, then certainly in the case of 17> 2n>
o°7Y 1YY PRI it is surely 7105, Why does the 73wn need to teach us that 2°79 1o¥ PRI 17> 2N
is 109?!

mooin replies: the reason -
= YD 4991 991 1DPANT 1IPNIYND DTy 1PDY PPN 1712 AND3 AN NN

The mwn teaches us the case of 27 MY RY 177 ans2 ans, to inform us
that even though there is no 7V at all, nevertheless the child who will be
born to this woman, after remarrying on the basis of this 7109 v3, (he) will be
a ws 1.’

The question may be asked in reverse’ if in the case of 2>7v ¥5¥ PXY 17> 2022 an3 the 91 is
Tw> then certainly in the case of X"¥1 17> an> the 791 would surely be 2w>; why is there a
need” to tell us this 17 as well? moon replies: The mwn -

$NYINNNIY RYIN KD 191 1DIONRT THIVNN THN 19 NIN 12 PPNT NOID)

needs to state the concluding case of X''y %X 12 PX; that notwithstanding
that there is ¥277 7> 2n2 and an X"V, nevertheless she should initially not
remarry based on this v3 alone for it is a 9109 va.”

" This 7" is of the opinion that if it would be only 791 7910 2n3 then the 791 is not “w3.
% See previous 205 77"7 '0I1N that 17> 2n3 is W 727 72°N0 T2 PR,

? See “Thinking it over’ # 1.

* See “Thinking it over’ # 2.

> See previous 2n5 71"7 '0IN that the reason it is a 7109 13, is because it is 727 12 7K.
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SUMMARY

It is necessary to state the case of 2>7¥ 1°2¥ X1 17° 222 20> to inform us that
even if there are no 0°7y, nevertheless "w> 77177, Conversely it is necessary to
inform us of the case of X"V XX 12 PRI 1a1 12 w°, that even if it was 7> 2022
5van, nevertheless 7970027 Xwin X5.

THINKING IT OVER

1. mvoIn at first explains why it is necessary to state the 17 of 17> 2022 2n>
and then afterwards explains why it is necessary to state X"y X5% 12 PXR.° Is
there a reason why Mmoo follows this order and not the reverse?

2. Once mooin felt it necessary to explain why the mwn needs to state the
case of 0*7v 1°%¥ X1 17> 22 since it states already the case of X"¥1 17> and; it is
obvious that from 2°7¥ 1Y XY 17° 202, we cannot assume that the same 7 is
by "3 17 an2.” Why does moo1n have to conclude and explain why it is
necessary to state X"¥117>2n3?

6 See footnote # 3.
7 See footnote # 4.
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